Szeptember Oktober November December Januar Februar
Sze| 1 P 1 H 1[szONET Sze 1_ 5,0[Szo| 1[szONET K | 1[rajz 5,0
Cs | 2|Gyakorlat 5,0/Szo | 2 K 2|Gyakorlat 5,0|Cs 2|Gyakorlat 5,01V 2|SZUNET Sze| 2
P 3 Vv 3|Gyakorlat 10,5|Sze | 3 P 3 H 3 Cs | 3 5,0
sz20] 4 H |4 Ccs | 4[miéveer | 5.0[s20 | 4 K | 4[Gyakorlat | 5,0p | 4
\Y 5 K 5|Gyakorlat 5,0|P 5 Y 5[Rajz 10,5(Sze| 5 Szo| 5
H |6 Sze | 6 s20 | 6 H |6 Cs | o|Miavtori | 5.0[v_| 6|Gyakorlat _ [10,5
K_| 7|Gyakorlat | 5,0[cs | 7|M@ter | 5,0V | 7[Gyakorlat  [10,5]k [ 7[Gyakorlat 500 |7 H |7
Sze| 8 P 8 H 8 Sze | 8 Szo| 8 K 8|Gyakorlat 5,0
Cs | o[Mdvesri | 5,0[s20 | 9 K |9 50[Cs | 9[Gyakorlat 50[V_| 9|Gyakorlat _ [10,5[sze| 9
P_|10 V__[10[Gyakorlat _[10,5[sze |10 50/p |10 H |10 Cs |10 5,0
Sz0[11 H |11 cs |11 5,0[5z0 |11[MUNKANAP K_|11]|Rajz 50P [11
V |12|Gyakorlat [10,5|K 12|Gyakorlat 5,0|P 12 Y 12|Rajz 10,5(Sze|12 Szo |12
H |13 Sze |13 520 [13 H |13 Cs [13|Miéveer | 50V [13[Gyakorlat _ [10,5
K_[14|Gyakorlat | 5,0[cs [14|M@vter ] 5.0V [14[Gyakorlat  [10,5]k  [14[Gyakorlat 50[p 14 H [14
sze[15 P |15 H |15 Sze [15 S20[15 K_[15[Rajz 5,0
Cs | 16[Mivesri | 5.0[sz0 [16 K Gyakorlat 50[Cs_[16 V_|16]|Gyakorlat _ [10,5[sze [16
P |17 V__[17|Gyakorlat_[10,5[Sze 50[p [17 H [17 Cs [17 5,0
Szo|18 H 18 Cs 5,0/Szo |18 K [18]|Gyakorlat 5,0/P [18
v_[19 K__[19]Gyakorlat | 5,0[P |19 v [19[Rajz 10,5[5ze[ 19 52019
H [20 sze |20 sz0 |20 H_[20[szUNET cs [20[M@isH | solv|20[Gyakorlat  [105
K_[21]Gyakorlat [ 5,0[cs [21Ma@vieri | solv [21]eyakorlat  [105[k  [21]szONET P [21 H |21
sze[22 P |22 H |22 Sze [22[SZUNET S20[22 K_|22|Gyakorlat | 5,0
cs |23|M@veer | 5,0[sz0 [23[szUNET K__|23[Gyakorlat 5,0(cs [23[szONET v_|[23[Gyakorlat_ [10,5[sze [23
P |24 v |24|szONET sze |24 |SEaRMGINENE 5.o[P  |24[szONET H |24 Cs |24 5,0
Sz0(25 H [25[szONET Cs_|25[Rajz 5,0[Sz0 |25[SZUNET K_|25|Gyakorlat | 5,0[P |25
V_|26|Gyakorlat [10,5k  [26]szUNET P |26 v [26[szUNET Sze|26 520 |26
H [27 sze [27]szONET sz0 |27 H_ [27]sziNer Cs |27Szakismeret | 50|V _|27[Gyakorlat  [105
K _|28|Gyakorlat | 5,0[cs |28[sZUNET V_ |28|Gyakorlat  [10,5[K  |28|szUNET P |28 H |28
sze[29 P [29[szONET H |29 Sze [29[SZUNET S20(29
cs [30 5,0[Sz0 [30[SZUNET K__|30|Gyakorlat 5,0/Cs_[30[szUNET V_[30|Gyakorlat _ [10,5

Vv [31]szUNET P |31|szONET H [31




Marcius Aprilis Majus JUnius

K | 1[Rajz solp |1 v | 1|szONET sze | 1
Sze| 2 Szo | 2 H 2 Cs 2
cs | 3[Szakismeret| 5,0[v | 3[Gyakorlat [105[k |3 R E
G | 4 H | 4 Sze | 4 S20 | 4
Szo| 5 K 5|Gyakorlat 5,0|Cs 5 \Y 5
V 6|Gyakorlat |10,5|Sze | 6 P 6 H 6|SZUNET
H |7 cs | 7|Szakismeret| 5,0[sz0 | 7 K | 7
K 8|Gyakorlat 5,0|P 8 Vv 8 Sze | 8
sze| 9 S0 | 9 H |9 cs | o9
Cs |10[Szakismeret| 5,0V [10[Gyakorlat [10,5]k  [10 P |10
P |11 H |11 Sze |11 S20 |11
Szo|12 K 12|Gyakorlat 5,0|/Cs |12 Vv 12
v |13[Rajz 10,5[sze [13 P |13 H |13
H |14|szONET Cs |14]szONET Sz0 |14 K |14
K [15(szONET P |15[szUNET vV |15 Sze |15
sze|16 Sz0 |16|SZONET H |16

Cs |17|Szakismeret| 5,0[v [17[szONeT K |17

P |18 H |18[szONET Sze |18

Szo0|19 K [19]SZUNET Cs |19

V |20|Gyakorlat |[10,5|Sze |20 P 20

H |21 Cs_|21|Szakismeret| 5,0[s20 [21

K |22|Gyakorlat 5,0|P 22 \Y 22

Sze|23 S20 |23 H |23

Cs |24|Szakismeret| 5,0V [24[Gyakorlat [10,5]k |24

P |25 H |25 Sze |25

Szo|26|MUNKANAP K 26|Gyakorlat 5,0|/Cs |26

v |[27[Raiz 10,5/sze |27 P |27

H [28 Cs |28|Szakismeret| 5,0(sz0 |28

K |29|Gyakorlat 5,0|P 29 Vv 29

sze[30 sz0 |30|Rajz 105/ [30

Cs |31]Szakismeret| 5,0 K_[31




